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It is flot pretended that the above catimate is perfectly correct and
adapted to every case, as the amount ana character of the trafflo
engagea in, by any particular lime, as well as the weight of raOs used,
would affect the calculations. The figures are sufficient, howeèer, .to
Sive a comparison betwoen the existing ana the proposed systeni, and
to show roughly the commercial'value of the latter. Allowing, if
need be> one haif of the above estimate for unforeseen possible con-
tingencie@, we have still a saving of over 8180 'per mile per annum ;
a sumn which, if reckoned on the mileage of existing Canadian rail-
ways, would ho equal to a ycarly saving of 32,000, sufficient to psy
a dividend of 6 per cent, on e5,40,000 of railway capital.

I need scarcely lengthen these observations in order to show that
the suggestodl improvement appears to possess many important advan.
tagos, -but as the economie test is after ail the true fin&nciat standard
by which such improvoments should be measured, I may add, that as
the rolling stock is greatly affected by the condition of the track, and
the cost of its repaira is proportionate to the stato in 'which the roaci
is kopt, we have in this circumstance anothor element of saving, inas-
mucli as the ixnproved rail could doubtless be niaintained fromn flrst to
laut ini a much smoother stato than 'we usually flnd existing rail traclcs.

If still anothor illustration bo needed to show the econoinie value of
the improved rail, it will ho seon in the comparative amount of capital
required to ro-lay the rails after the firat set are worn out. For this
comparison it matters not what the average life of a common rail May
ho considered, siaco we have already shown that the improved rail may
bo f9und serviceablo for double the period. Let us assume that the
life or serviceable duration of a common rail is 8 yeàrs, thon that of
the improved rail may be takon as 16 yoars,-bofore the expiration of
8 years the whole of the former has to be renewed, but the latter being
-reversible, and a worn ont surface. boing equally good for the lower
portion, one haif of it only has to be roplaced hofore 16 years expire.
Tu the case of tho common rail one-eighth of its first cost should
onnually be set aside ont of thé company's earnings to replace it in oigi..
years, whilo only one thirty-secondl part 'of the first cost of the im-
proved rail would ho needed as au annual sinking fund to renew the
weàring surface in, sixteen years As a more practical illustration,
take a lino of railway 200 miles long, and assume the lifo of a rail as
above givon, wo find, after making ample allowance for the -value of' the
worn ont rails a old iron, that the Company would require to expend
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